| Efficiency vs Dxy |

-0.05F .
% C :
e C :
O S e
@.04F oot Rt R S SR
o F :
(BOB+-wvvvfersorors o e e R
o F 5
O T S e e
L e o SRR RS RS T S
s S o TR A T -
L] e S ot s S
0.0 wofrvvssiorsovfnnno S S
0.005 - vrvvssiersnvdinens | IR RS SRS
.9J__Q;IIII:IIII:IIII:IIII:IIII!III!IIIIIIIIIIIIIIII
i e e e S A
1;_ ........................................................................
O B S A

0.8

D5 20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—=— DQMstep3_TT_CKF
—e— DQMstep3 TT_default

| Efficiency vs Dz |

nND.02
S

—— DQMstep3_TT_ckfPixelLess

2030
TP dz (cm)

10




	Contents
	Page 1


